

2025 Morgan County Premium Only 4-H Livestock Auction Friday, July 11, 2025 2:00 PM EST



Species Order: Goat, Swine, Poultry, Sheep, Rabbit, Beef

Present this flyer at the gate for free entry to the fairgrounds Friday, July 11, 2025 Morgan County 4-H Fairgrounds Show Arena
1749 Hospital Drive
Martinsville, IN 46151
Questions? Call the Extension Office at 765-342-1010

Auction Services Donated By:
Ted & Kurt Everett
Consignment Buyer:
R&R Livestock
Rick & Terri Teverbaugh

Ways to Support the Morgan County 4-H Members:

- 1. Bid and buy at the auction. Register Here: https://bit.ly/4Hlivestockauction
- 2. If you buy the animal and wish to take it you will pay your bid price plus the consignment price of the animal.
- 3. Donate add-on bids to specific members or groups of members. (Download at link above). Add-on cards also available at the auction.) Add-On bids with payment should be submitted to Livestock Auction c/o Patty Dow, 258 S. Denny Hill Rd., Paragon, IN 46166 no later than July 25, 2025.
- **4.** Be a Friend of 4-H. Your donation helps defray auction expenses for all participating members.
- 5. Make a custom contribution. (You tell us your plan.)
- **6.** The committee provides a bidder for you if you cannot attend.
 - a. Checks can be mailed to the 4-H Livestock Auction
 Questions can be e-mailed to Morgan4Hsale@gmail.com

Make Checks Payable to:

Morgan County 4-H Livestock Auction c/o Patty Dow 258 S. Denny Hill Rd. Paragon, IN 46166 Morgan4Hsale@gmail.com

What is the 4-H Livestock Auction?

The 4-H Livestock Auction is the culmination of a year of hard work and dedication for over 400 4-H animal exhibits in Morgan County. These members learn a number of valuable life skills and lessons:

- Animal husbandry and proper livestock care and management.
- The importance of managing financial resources and making business decisions.
- Responsibility and time management to meet their goals of raising a healthy animal that meets the 4-H criteria.
- Responsibility to the end consumer of a safe food product.
- Teamwork, good sportsmanship, citizenship and leadership.

The 4-H members thank you for your support! Please participate in the 2025 Morgan County 4-H Livestock Auction and know that you have invested in our youth.

- The sale is terminal
- Sale animals are either taken by the consignment buyers or the auction buyer.
 The 4-H family relinquishes the animal if it goes through the auction and may NOT take the animal home.
- A luncheon for auction buyers will be held at the fairgrounds in the Wilber Kendall Room from 12:00 noon until 1:30 p.m. Pick up your ticket at the Check-In table at the Show Arena. Check-in begins at 11:00 a.m.
- Thank You to our luncheon sponsors:
 Morgan County Farm Bureau, Inc.
 Mooresville Butcher Shop & Steaks of the Midwest
 Bright Excavating, Caleb Bright
 Circle K- Ohio St. Martinsville

Many Thanks to Our 2024 4-H Auction Livestock Buyers

Buyer/ Add-On Buyer Information

All bids must be submitted/paid to the Livestock Auction address by July 25, 2025

(Register Online Here: https://bit.ly/4Hlivestockauction)

Make Checks Payable to:

Morgan County 4-H Livestock Auction c/o Patty Dow 258 S. Denny Hill Rd. Paragon, IN 46166

Morgan4Hsale@gmail.com

To be recognized during the auction, emailed a	add-on bids must be received by July 9	, 2025)
ompany Name:		•
ontact Person Name (First & Last)		
ailing Address:		
ty/State/Zip Code:		
none Number:		
ell Phone Number:		
mail Address:		
revious Buyer Yes No		
riend of 4-H Donation (helps cover auction exp	enses for all 4-H Exhibitors) \$	
Add-on Bids		
-Her Name (First & Last)	Amount \$	<u>Species</u>
	······	
		

Total \$_____

ATTENTION BUYERS: IF YOU ARE TAKING THE ANIMAL HOME WITH YOU, YOU MUST ALSO PAY THE FLOOR PRICE OF THE ANIMAL!

Sale Program

2025 Morgan County Fair

Sale #	Exhibitor / Description / Awards	Entry #	Club / Parents / City	Animal ID's	Check-In Weight	Floor Price per Pound	Floor Price	Bid Price	Buyer
1	MacPhee, Katie Meat Goat Wether (MG) Champion	307	MC IN 4-H Goat Club Lisa & Jacob MacPhee	Lulu's Brown headed Wether on Henrie	69	3	\$207.00	\$0.00	
2	Vaught, Zavery Dairy Goat Wether Check-in Weight	1002	MC IN 4-H Goat Club James & Angee Abraham	55040 112	49	2.25	\$110.25	\$0.00	
,	Richhart, Hunter Meat Goat Wether (MG) Livestock Goat	32	MC IN 4-H Goat Club Alicia & Chad Richhart	X6L2450	76	3	\$228.00	\$0.00	
	Vaught, Bella Dairy Goat Wether Check-in Weight	1001	MC IN 4-H Goat Club James & Angee Abraham	55040 111	54	2.25	\$121.50	\$0.00	
,	Buster, Wyatt Dairy Goat Wether Check-in Weight	1102	MC IN 4-H Goat Club Jennifer & Jeff Buster	LE:7BF RE:019	93	3	\$279.00	\$0.00	
	Beliles, Jadason Meat Goat Wether (MG) Livestock Goat, Reserve Champion	63	MC IN 4-H Goat Club Dana & Jason Beliles	0056	76	3	\$228.00	\$0.00	
	Perry, Jacob Fainting Goat - 6 months old to under 9 months of age (FG)	71	MC IN 4-H Goat Club Briann Turpin & Josh Perry	None	63	3	\$189.00	\$0.00	
3	Bennett, Kendall Dairy Goat Wether Livestock Goat	2812	Contact Me to Learn About Clubs Madelyn Arnold	55040	32	1.75	\$56.00	\$0.00	

						l		<u> </u>	
9	Chupp, Peyton Meat Goat Wether (MG) Livestock Goat	99	Hoosier Plow Kids 4-H Club Elizabeth & Chris Chupp	0184	75	3	\$225.00	\$0.00	
10	Fisher, Hadlee Meat Goat Wether (MG) Livestock Goat	1853	MC IN 4-H Goat Club Brittany & Jordan Fisher	NONE	54	3	\$162.00	\$0.00	
11	Fowler , Raelynn Meat Goat Wether (MG)	542	Morgan County 4-H Horse and Pony Club Casey Fowler & Riley Nichols	0199	59	3	\$177.00	\$0.00	
12	Gardner, Creed Meat Goat Wether (MG) Livestock Goat	1883	MC IN 4-H Goat Club Melanie & Shawn Gardner	205	35	1.75	\$61.25	\$0.00	
13	Griffith, Presley Dairy Goat Wether Check-in Weight	424	Pioneer Clovers 4-H Club Melissa & Jeremy Griffith	NFFD284	27	1.75	\$47.25	\$0.00	
14	MacPhee, Liam Meat Goat Wether (MG) Livestock Goat	313	MC IN 4-H Goat Club Lisa & Jacob MacPhee	Henrie's Black Headed Wether	75	3	\$225.00	\$0.00	
15	Moore, Kyndal Dairy Goat Wether Check-in Weight	1434	Clover Kids Nikita Urban	T2	54	2.25	\$121.50	\$0.00	
16	Parrish, Jaxten Meat Goat Wether (MG) Livestock Goat	2806	Megan Ray	55239	74	3	\$222.00	\$0.00	
17	Sims, Avery Dairy Goat Wether Check-in Weight	122	MC IN 4-H Goat Club Steven Sims	000000	24	1.75	\$42.00	\$0.00	
			+	BE 4451 E 505	20		4100 50	** **	

18	Tobin, Alexis Dairy Goat Wether Check-in Weight	1317	Canine Crusaders 4-H Dog Club Mary (Missy) Tobin	RE 017 LE 7BF	86	2.25	5 \$193.50	\$0.00	
19	Walls, Jaxon Dairy Goat Wether Check-in Weight	30	MC IN 4-H Goat Club Kaitlyn Walls & Steven Sims	00000	24	1.75	5 \$42.00	\$0.00	
20	Walters, Adelika Meat Goat Wether (MG) Livestock Goat	361	MC IN 4-H Goat Club Briana Mahon	0000000	107	3	3 \$321.00	\$0.00	
21	Zupancic, Hillary Dairy Goat Wether Check-in Weight	1913	MC IN 4-H Goat Club Shelley Thacker	109	54	2.25	5 \$121.50	\$0.00	
22	Griffith, Gage Dairy Goat Wether Check-in Weight	3252	Pioneer Clovers 4-H Club Melissa & Jeremy Griffith	NFFD285	23	1.75	\$40.25	\$0.00	
23	Zupancic, Natalie Dairy Goat Wether Check-in Weight	1934	MC IN 4-H Goat Club Shelley Thacker	108	57	2.25	5 \$128.25	\$0.00	
24	Amos, Justin Hampshire Barrows (HP) - Show Class 1 Livestock Swine	226	Pioneer Clovers 4-H Club Jeremy & Christi Amos	18-11	241	0.53	\$ \$127.73	\$0.00	
25	Wunderlich, Gracie Duroc Barrows (DR) - Show Class 2 Livestock Swine	2187	Pioneer Clovers 4-H Club Ryan & Tammy Wunderlich	1-5	252	0.53	3 \$133.56	\$0.00	
26	Hess, Ava Crossbred Barrow Dark Color - Show Class 3	1697	Morgan County 4-H Swine Club Andrea Hess	7-5	264	0.53	3 \$139.92	\$0.00	
27	Cragen, Kendall	1574	Morgan County 4-H Swine Club	4-9	235	0.53	3 \$124.55	\$0.00	

	Crossbred Barrow Light Color - Show Class 1		Casey & Tonya Cragen						
28	Maxwell, Bryce Hereford Barrows (HE) - Show Class 1 Livestock Swine	608	Morgan County 4-H Swine Club Jason Maxwell	4-7	241	0.53	\$127.73	\$0.00	
29	Layton, Allie Crossbred Barrow Dark Color - Show Class 1	2527	Morgan County 4-H Swine Club Mitchum & Stephanie Layton	19-1	220	0.53	\$116.60	\$0.00	
30	Finney, Luke Crossbred Barrow Dark Color - Show Class 4	1786	A&A Township 4-H Club Andrew & Sarah Finney	40-8	278	0.53	\$147.34	\$0.00	
31	weddle, luke Chester White Barrows (CW) - Show Class 2 Livestock Swine	1939	Hoosier Plow Kids 4-H Club Emily & Brandon Weddle	9-3	255	0.53	\$135.15	\$0.00	
32	Saucerman, Jackson Tamworth Barrows (TM) - Show Class 1 Livestock Swine	2484	A&A Township 4-H Club Ryan & Callie Saucerman	1-10	223	0.53	\$118.19	\$0.00	
33	Finney, Noah Crossbred Barrow Dark Color - Show Class 3	1790	A&A Township 4-H Club Andrew & Sarah Finney	97-2	263	0.53	\$139.39	\$0.00	
34	Saucerman, Ava Berkshire Barrows (BR) - Show Class 2 Livestock Swine	2474	Morgan County 4-H Junior Leaders Ryan & Callie Saucerman	9-4	229	0.53	\$121.37	\$0.00	
35	Rinehart, Clint Crossbred Barrow Light Color - Show Class 1	1456	Clover Kids Donna Lynn & Nathan Rinehart	6-2	247	0.53	\$130.91	\$0.00	

6	Alex , Whitleigh	1799	A&A Township 4-H Club	11-1	212	0.53	\$112.36	\$0.00	
	Yorkshire Barrows (YS) - Show Class 1		Meghan Alex						
37	Pierson, Mackenzie Crossbred Barrow Dark Color - Show	1518	Morgan County 4-H Swine Club Kevin Pierson & Lisa Whitlow	3-2	274	0.53	\$145.22	\$0.00	
	Class 3		NOVIII I ISISSII Q EISQ I III.IISII						
38	Zupancic, Caleb Crossbred Barrow Dark Color - Show Class 2	481	Morgan County 4-H Horse and Pony Club KARMEN & Robert ZUPANCIC	1-1	245	0.53	\$129.85	\$0.00	
39	Stark, Jaxon Crossbred Barrow Light Color - Show Class 1	1446	Country Kids Angela Stark & Shannon Graves	3-6	277	0.53	\$146.81	\$0.00	
40	Dean, Addie Tamworth Barrows (TM) - Show Class 1 Livestock Swine	1114	Morgan County 4-H Swine Club Brandi & Gary Dean	4-6	272	0.53	\$144.16	\$0.00	
41	Goss, Alex Crossbred Barrow Dark Color - Show Class 2	2077	Morgan County 4-H Sportfishing Club Crystal Zoller & Brian Goss	9-8	239	0.53	\$126.67	\$0.00	
42	Kidwell, Cash Spots Barrows (SP) - Show Class 1 Livestock Swine	2178	Clover Kids Jill & Eric Kidwell	3-10	231	0.53	\$122.43	\$0.00	
43	Duncan, Maddy Spots Barrows (SP) - Show Class 1 Livestock Swine	2367	Pioneer Clovers 4-H Club Kate & Josh Duncan	3-2	198	0.48	\$95.04	\$0.00	
44	Graves, Grace Crossbred Barrow Dark Color - Show Class 4	1191	Pioneer Clovers 4-H Club Amanda & Timothy Graves	2-5	279	0.53	\$147.87	\$0.00	

	ı	l	1	1	l		1 1	I
45	Parrish , Bronxten Berkshire Barrows (BR) - Show Class 1 Livestock Swine	1304	Morgan County 4-H Swine Club Megan Ray	9-6	182	0.48	8 \$87.36	\$0.00
46	Graves, Gregory Berkshire Barrows (BR) - Show Class 1 Livestock Swine	1631	Pioneer Clovers 4-H Club Amanda & Timothy Graves	5-6	215	0.53	\$ \$113.95	\$0.00
47	Kivett, Zoey Yorkshire Barrows (YS) - Show Class 1 Livestock Swine	2883	Monrovia 4-H Club Adam & Amber Kivett	7-1	274	0.53	3 \$145.22	\$0.00
48	Hedrick, Libby Spots Barrows (SP) - Show Class 1 Livestock Swine	618	Morgan County 4-H Swine Club Emma & Michael Hedrick	6-4	269	0.53	\$142.57	\$0.00
49	Crone, Levi Chester White Barrows (CW) - Show Class 1 Livestock Swine	1165	Monrovia 4-H Club Dustin & Karey Crone	20-6	192	0.48	\$ \$92.16	\$0.00
50	Hedrick, Mary Hampshire Barrows (HP) - Show Class 1 Livestock Swine	620	Morgan County 4-H Swine Club Michael & Emma Hedrick	6-1	212	0.53	3 \$112.36	\$0.00
51	Fisher, Rowen Crossbred Barrow Dark Color - Show Class 1	1334	Monrovia 4-H Club Kaitlin & Devon Fisher	8-6	212	0.53	B \$112.36	\$0.00
52	Berling, Wyatt Hampshire Barrows (HP) - Show Class 1 Livestock Swine	1978	Monrovia 4-H Club Dwayne & Sarah Berling	11-2	268	0.53	\$142.04	\$0.00
53	Fisher, Hudson	1923	Morgan County 4-H Swine Club	26-10	254	0.53	\$ \$134.62	\$0.00

	Crossbred Barrow Dark Color - Show Class 2		Jordan & Brittany Fisher						
54	Berling, Bo Tamworth Barrows (TM) - Show Class 1 Livestock Swine	1932	Monrovia 4-H Club Dwayne & Sarah Berling	1-11	270	0.53	\$143.10	\$0.00	
55	Watkins, Easton Crossbred Barrow Dark Color - Show Class 4	1957	A&A Township 4-H Club Jared & Taylor Watkins	1-8	285	0.53	\$151.05	\$0.00	
56	Crone, Harris Crossbred Barrow Dark Color - Show Class 2	3167	Monrovia 4-H Club Cara Crone	6-4	243	0.53	\$128.79	\$0.00	
57	Watkins, Hailey Crossbred Barrow Dark Color - Show Class 4	1963	Morgan County 4-H Junior Leaders Chase Watkins	1-6	277	0.53	\$146.81	\$0.00	
58	Crone, Greyson Crossbred Barrow Dark Color - Show Class 1	3166	Monrovia 4-H Club Cara & Brady Crone	4-4	232	0.53	\$122.96	\$0.00	
59	Watkins , Lucas Crossbred Barrow Dark Color - Show Class 4	1960	A&A Township 4-H Club Jared & Taylor Watkins	1-7	302	0.53	\$160.06	\$0.00	
60	Marsh, Emma Crossbred Barrow Dark Color - Show Class 3	338	Monrovia 4-H Club Angela & Ryan Marsh	6-2	270	0.53	\$143.10	\$0.00	
61	Cragen, Emery Crossbred Barrow Dark Color - Show Class 2	1767	Morgan County 4-H Swine Club Casey & Tonya Cragen	2-6	236	0.53	\$125.08	\$0.00	

2	Hinshaw, Ryeland Spots Barrows (SP) - Show Class 1 Livestock Swine	2723	A&A Township 4-H Club Alyssa & Richie Hinshaw	1-7	244	0.53	\$129.32	\$0.00
3	Cragen, William Crossbred Barrow Dark Color - Show Class 3	1846	Morgan County 4-H Swine Club Casey & Tonya Cragen	3-4	263	0.53	\$139.39	\$0.00
4	Maxwell, Bryer Poland Barrows (SP) - Show Class 1 Livestock Swine	609	Morgan County 4-H Swine Club Jason & Kate Maxwell	13-3	241	0.53	\$127.73	\$0.00
i5	Smith, Gavin Crossbred Barrow Dark Color - Show Class 1	444	Country Kids Clyce Smith & Leslie Howell	10-3	230	0.53	\$121.90	\$0.00
6	Bales, Monroe Poland Barrows (SP) - Show Class 1 Livestock Swine	1081	Morgan County 4-H Swine Club Tabetha & Ryan Bales	3-2	244	0.53	\$129.32	\$0.00
57	Ennis, Abel Poland Barrows (SP) - Show Class 1 Livestock Swine	2446	Morgan County 4-H Swine Club Adam & Erin Ennis	56-4	186	0.48	\$89.28	\$0.00
88	Layton, Madison Chester White Barrows (CW) - Show Class 1 Livestock Swine	3027	Morgan County 4-H Swine Club Mitchum & Stephanie Layton	21-8	186	0.48	\$89.28	\$0.00
69	Ennis, Easton Crossbred Barrow Dark Color - Show Class 1	2455	Morgan County 4-H Swine Club Adam & Erin Ennis	3-1	230	0.53	\$121.90	\$0.00
' 0	Peine, Charlotte Spots Dec. Gilts - Show Class 1 Livestock Swine	1223	Morgan County 4-H Swine Club Rachel & Doug Peine	2-5	195	0.85	\$103.35	\$0.00

'1	Thomas, Blake Crossbred Barrow Dark Color - Show Class 2	83	Beef Club Heather & Ryan Thomas	4-6	238	0.53	\$126.14	\$0.00
72	Peine, Violet Born and Raised Market Class (BRM)	1222	Morgan County 4-H Swine Club Rachel & Douglas Peine	1-2	191	0.53	\$101.23	\$0.00
73	Watkins , Bristol Crossbred Barrow Dark Color - Show Class 3	2650	A&A Township 4-H Club Holly & Cord Watkins	1-3	267	0.53	\$141.51	\$0.00
74	Ritter, Abigail Poultry Meat Pens (PMP) (Two Birds Per Pen) Livestock Poultry Meat Pen, Reserve Champion	2056	Morgan County 4-H Poultry Club Mandy & Scott Graves	cornish cross	20.2	0	\$0.00	\$0.00
75	Graves, Sophia Poultry Meat Pens (PMP) (Two Birds Per Pen) Livestock Poultry Meat Pen	1991	Morgan County 4-H Poultry Club Amanda Graves	cornish cross	26.2	0	\$0.00	\$0.00
76	Holzer, John Poultry Meat Pens (PMP) (Two Birds Per Pen) Livestock Poultry Meat Pen	2559	Country Kids Laurel Castelot & Brian Holzer	CC Pair	18.1	0	\$0.00	\$0.00
77	Ebmeyer, Dillon Poultry Meat Pens (PMP) (Two Birds Per Pen) Livestock Poultry Meat Pen	1392	Beef Club Donna Graham & Tiffany Ebmeyer	meat pen	11.3	0	\$0.00	\$0.00
78	Etter, Kiley Poultry Meat Pens (PMP) (Two Birds Per Pen) Livestock Poultry Meat Pen, Champion	1291	Canine Crusaders 4-H Dog Club Laura & Aaron Etter	Cornish x	0	0	\$0.00	\$0.00
79	Asher, Kyra Poultry Meat Pens (PMP) (Two Birds Per Pen)	623	Monrovia 4-H Club Jaclyn Dillon & Daniel Asher	Wood and Chuck	0	0	\$0.00	\$0.00

80	Musgrave, Zackary Hampshire Market Lamb (HM) - Show Class 2	380	Morgan County 4-H Swine Club Tommy & Rae Musgrave	55516	134	1.5	\$201.00	\$0.00	
81	Barnhart, Callihan Blackface Commercial Market Lamb (BF) - Show Class 3 Livestock Sheep	1315	Rising Hope 4-H Club Rachel Barnhart	55522	145	1.5	\$217.50	\$0.00	
82	Collier, Levi Dorset Advantage Market Lamb - Show Class 2 Livestock Sheep	1878	Clover Kids Chrisie & Justin Collier	55509	129	1.5	\$193.50	\$0.00	
83	Chupp, Elijah Shropshire Market Lamb (SH)	47	Hoosier Plow Kids 4-H Club Elizabeth & Chris Chupp	55198	135	1.5	\$202.50	\$0.00	
84	Etter, Kendal Natural Color Market Lamb (NA) - Show Class 2 Livestock Sheep	1273	Canine Crusaders 4-H Dog Club Laura & Aaron Etter	55519	147	1.5	\$220.50	\$0.00	
85	Fidler, Azrah Oxford Market Lamb (OX) - Show Class 1 Livestock Sheep	1104	Country Friends Ashley Fidler	55180	116	1.5	\$174.00	\$0.00	
86	Love, Michael Dorset Market Lamb (DR) - Show Class 2 Livestock Sheep	1876	Clover Kids Vanessa Dawn Love Love	55508	129	1.5	\$193.50	\$0.00	
87	Musgrave, Elleigh Shropshire Market Lamb (SH) Livestock Sheep	372	Morgan County 4-H Swine Club Tommy & Rae Musgrave	55514	123	1.5	\$184.50	\$0.00	
88	Pless, Kaiden	1813	Country Friends	55189	120	1.5	\$180.00	\$0.00	

	Oxford Market Lamb (OX) - Show Class 1	l	Kristen Pless						
	Livestock Sheep	ı			1	J	1		
89	Musgrave, Tucker Blackface Commercial Market Lamb (BF) - Show Class 2 Livestock Sheep	375	Morgan County 4-H Swine Club Tommy & Rae Musgrave	55515	115	1.5	\$172.50	\$0.00	
90	RINEHART, Hunter Dorset Market Lamb (DR) - Show Class 1 Livestock Sheep	1352	Clover Kids Donna & Nathan Rinehart	55502	100	1.5	\$150.00	\$0.00	
91	Sawyer, Adrianna Hampshire Market Lamb (HM) - Show Class 1 Livestock Sheep	400	Morgan County 4-H Swine Club Jessica & Paul Sawyer	55521	94	1.5	\$141.00	\$0.00	
92	Rinehart, Sawyer Dorset Market Lamb (DR) - Show Class 1 Livestock Sheep	1361	Clover Kids Donna Rinehart	55503	110	1.5	\$165.00	\$0.00	
93	Sawyer, Riliegh Hampshire Market Lamb (HM) - Show Class 1 Livestock Sheep	389	Morgan County 4-H Swine Club Jessica & Paul Sawyer	55520	93	1.5	\$139.50	\$0.00	
94	Shipley, Madison Dorset Advantage Market Lamb - Show Class 1 Livestock Sheep	1530	Clover Kids Nichole & David Shipley	55501	93	1.5	\$139.50	\$0.00	
95	Thompson, Tommy Blackface Commercial Market Lamb (BF) - Show Class 1 Livestock Sheep	2714	Canine Crusaders 4-H Dog Club Laura & Casey Thompson	55196	91	1.5	\$136.50	\$0.00	
96	Trusty, Kenleigh Oxford Market Lamb (OX) - Show Class 1 Livestock Sheep	1819	Country Friends Daniel Trusty & Kristen Pless	55187	120	1.5	\$180.00	\$0.00	

97	Towell-Crook, Chloe Oxford Market Lamb (OX) - Show Class 1 Livestock Sheep	2220	Rising Hope 4-H Club Alicia & Mike Towell	55526	127	1.5	\$190.50	\$0.00	
98	Trusty, Koltin Oxford Market Lamb (OX) - Show Class 1 Livestock Sheep	1823	Country Friends Daniel Trusty	55186	126	1.5	\$189.00	\$0.00	
99	Towell-Hacker , Darci Class 1 Livestock Beef	3168	Rising Hope 4-H Club Mike Towell	55801	857	2.25	\$1928.25	\$0.00	

Sale Program

7/10/20:

ATTENTION BUYERS: IF YOU ARE TAKING THE ANIMAL HOME WITH YOU, YOU MUST ALSO PAY THE FLOOR PRICE FOR THAT ANIMAL.